Inverclyde Council

Transfers Report

This report contains the transfers results.

Valid Votes
Positions to be Filled
Quota

3,157 3 790

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
John CROWTHER	Scottish National Party (SNP)	972
Georgina HALFNIGHT	Scottish Conservative and Unionist	205
Natasha MCGUIRE	Scottish Labour Party	891
Irene MCLEOD	Scottish National Party (SNP)	359
Tommy MCVEY	Independent	730
	Total	3,157

Candidate John CROWTHER Elected with 972 votes, being in excess of the quota of 790 Candidate Natasha MCGUIRE Elected with 891 votes, being in excess of the quota of 790

Ward 7 - Inverclyde South

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of John CROWTHER

182.00000

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Georgina HALFNIGHT	12	0.18724	2.24688
Transfer to Irene MCLEOD	788	0.18724	147.54512
Transfer to Tommy MCVEY	70	0.18724	13.10680
No further preference	102	0.18724	19.09848
Not transferred due to rounding			0.00272
	Total		182.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Surplus of Natasha MCGUIRE

101.00000

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Georgina HALFNIGHT	113	0.11335	12.80855
Transfer to Irene MCLEOD	132	0.11335	14.96220
Transfer to Tommy MCVEY	307	0.11335	34.79845
No further preference	339	0.11335	38.42565
Not transferred due to rounding			0.00515
	Total		101.00000

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of Georgina HALFNIGHT

220.05543

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Irene MCLEOD	5	1.00000	5.00000
Transfer to Tommy MCVEY	130	1.00000	130.00000
Transfer to Irene MCLEOD	4	0.18724	0.74896
Transfer to Tommy MCVEY	2	0.18724	0.37448
Transfer to Irene MCLEOD	7	0.11335	0.79345
Transfer to Tommy MCVEY	68	0.11335	7.70780
No further preference	70	1.00000	70.00000
No further preference	6	0.18724	1.12344
No further preference	38	0.11335	4.30730
Not transferred due to rounding			0.00000
	Total		220.05543